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(Part A) zZzw
Research Methodology

ZÝfgZùTÐ[',Z{gZ�&ZkeðÃ¦�@*ì�¬¦7åZkÃH¹Y@*ì? .1

Secondary Data (B) Primary Data (A)

None of these (D) Tertiary Data (C)

!*g!*wÆîh-VÃÄ§hVÐÉ�Mh�?Z¤/CÙ�Ð 2 -VÐ 3 !*g!*wîh~�XW\ 5 �c*�Hì�°�Æ .2

Zq-Ðic*�{)É7HYYìX
30 (B) 15 (A)

75 (D) 60 (C)

ÆS¤**c*[�X (sample) §iì�A$ZEwHY@*ìóZ#£/%: non-probability Zq-Sà _________ .3

Snowball Sampling (B) Panel Sampling (A)

Purposive Sampling (D) Convenience Sampling (C)

åZq-�B�fX vowels ÂÆwzsÐÄZÖp¯ñYMh�XZÖpX~ " "SIGNATURE .4

4320 (B) 17280 (A)

80 (D) 720 (C)

ìX  _________ �Mh�Xz{ generalize ÆaÌ participants Æ}òÃ�zu} study TuJ-ëZq- .5
Construct validity (B) Sampling validity (A)

Internal validity (D) External validity (C)

qgzfsÎZw~ÔZq-Òy&Ò**]»Zq-¤/z\ìTÆ�¼}òqÝK��XZLW\Ð¼ÌiK¯Ô .6

îg6,ÒyÐZ}.HYnX logical »ZN[�,� conclusion Zk

Many offices are located in building with multiple floors. If a building has more than three Òy:
floors, it has a lift.

All floors of buildings with multiple floors may be reached in lifts. (A)
Only floors above the third floor have lifts. (B)

Seventh floor does not have lifts. (C)
All buildings have lifts. (D)
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�ÂQZ¤/ëË{maZzZgÃqÝ�äÆa¢zg~ (closely related) Z¤/ÃðY}ì�aZzZgZzg!*gl�Ûd$ÐÝ .7

»ZEw�D�X  (Analysis) �t _________ !*glÅlZgÃY'eT�ÂZkÑÆaë
Coefficient of Correlation (B) Regression Analysis (A)

None of these (D) Scattar Plots / Diagram (C)

ÆóñçqÅÙ|# (reviews & summary) Ôí,-Ô�Ñ:ÂÁÔY,̂}ZzgÜßV (Encyclopedia) ZK̈ebc* .8

~Y,̂}ÅHzzì? (Initial stages) ÆZ�Zð%Zi
They are readily available (A)

They provide an overview of the issues related to a topic (B)

They are primary sources (C)

They avoid reporting statistical data so one can interpret the results more easily (D)

ìX _________ 8¯yZÚz-»ÃZ+{ Computer-assisted .9

 Interviewing time is reduced (A)

Data quality is enhanced (B)

Questionnaires do not have to be coded (C)

There is little opportunity for interviewer bias (D)

§8gR,~�"Æ!*g}~qgzfsÒ**]7,³ .10

»×åNzwìX extraneous variable Zk~ -I

ZkÆ}òÇi0+ÏÆqÑ]6,ÑÍ�D�X -II

Which of the following is correct.

 I is incorrect and II is correct (B) Both I an II are correct (A)
 I is correct but II is incorrect (D) Neither of I and II is correct (C)

qgzfs�zz2VÃ7,³: .11
List A List B

a) Historical Research 1. Current status
b) Action Research 2. Control of variables
c) Survey Research 3. Natural setting
d) Experimental Research 4. Local Problem

5. Past oriented
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~ÐÃy�9ì? matching qgzfs
a b c d

(A) 3 4 1 2
(B) 5 4 1 2
(C) 4 3 2 5
(D) 1 2 3 4

uz}g^aÆÚø~ÔZq-ºmWgeg~�g`fsZ�Zâ]GYD�: .12

Data Collection (iv) Data Analysis (iii) Inference (ii) Sampling (i)

9Z�Zâ]»WgegìX Sequence qgzfs~ÐÃy�
1, 4, 3, 2 (B) 2, 3, 1, 4 (A)

4, 1, 2, 3 (D) 3, 2, 4, 1 (C)

_____________ ÃA$ZEwHY@*ìXZ# Stratified sampling .13

selected group needs to be studied (B) the universe is homogeneous (A)

data about the universe is not available (D) the universe is hetrogeneous (C)

_____________ nÅt�@*ìZ#z{ Type I Zq-[ .14

Rejects Null Hypothesis when it is false (B) Accepts Null Hypothesis when it is false (A)

Accepts Null Hypothesis when it is true (D) Rejects Null Hypothesis when it is true (C)

qgzfs~ÐÃ̈Kß�hZì? .15

Product moment correlation - Pearson (B) Rank correlation - Spearman (A)

Contingency correlation - Cramer (D) Split-half correlation - Kuder Richardson (C)

Hì? Bibliometry .16

Information Management Service (B) Function of Library Network (A)

Library Service (D) Information Mangement Tool (C)

ï»ãC�~ÑHì? inter-disciplinary W\Æ�[Ð .17
To bring out holistic approach to research (A)

To reduce the emphasis of single subject in research domain (B)
To over simplify the problem of research (C)

To create a new trend in research methodology (D)
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¤(̈9V~ 20 ¤(̈9VäZjwÆzW÷Zï~£ḦZzgCÙ¤(̈DñZi:¸uÅ&¢A»qïìÔ (20)ä .18

7ic6,WNÐ? Zzg ì�±Æ÷Zï~ (probability) ±HV�XHZky 5 ±ÆZ̧zg 15Ð
(B) (A)

(D) (C)

Òy:yz*y~0*ãÐaZ�äZzgÌzZàFg-VÐOW,Z�ÛZ�Å®Z�~Z���ZìX .19

»gzZð»§i
~ZkçA6,c�**ec session èZÔÃZL (I)

ßÍVÃÓ#ÖÃ�sÅWÆ0*ãÆ!*g}~»°¥â]�ÛZë�**ec (II)

hßVÃ´`ÆaZd�gZÅ�pVÐ:�**ec (III)

Either I or II follows (B) Only I or Only II follows (A)

Both II and III follows (D) Neither I nor II follows (C)

sampling ~yz*y~%�zúgÂVÆ�gxyZi+iÅñ��Ï»_·�ä~qgzfs  2006 Zzg 1996Ô1986Ô1976 .20

Æ§io�&ì?
Systematic sampling (B) Cluster sampling (A)

Stratified random sampling (D) Quota sampling (C)

��ï�Ô!*¹�zV»Zz�½ãH�Ç? remove 35 Zzg 25 ìXZ¤/�z�Ô 28 �zV»Zz� (50) �k .21

27.92 (B) 29.27 (A)

29.72 (D) 27.29 (C)

_________ »ZEwA$�D�Z# factorial analysis ë .22
To know the difference between two variables (A)

To test Hypothesis (B)
To know the relationship between two variables (C)

To know the difference among the many variables (D)

Æ�gxyÆ4+©]Åz�s#�@*ì? creativity ZÔ½Zzg correlation coefficient Ã̈K .23

0.6 (B) 1.00 (A)

0.3 (D) 0.5 (C)
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YVqì? (research proposal) Zq-ïÆW¸i6,óæ¾ (Researcher) Zq-[ .24

So they will not forget what they are doing during the study. (A)

So they can advertise for people to take part in the study. (B)

To make sure they have not left any part of the study out when they are planning it. (C)

To apply for ethical approval and to gain permission to access participants or sources of data. (D)

ïÐHZì? (Audit) We^ .25

It does not need as many people to collect the information. (A)

It can be carried out on inanimate objects. (B)

It is more likely to be applicable to nursing (C)

It does not increase our understanding of the topic itself or allow us to transfer the (D)
results to other situations.

ãC�~îg6,¾»:ì: (intellectural ownership) óóÆ!*g}~Ô�Z�gZ:! authorship (ï~LL .26

Creative contribution (B) Effort expended (A)

Level of higher education (D) Professional position (C)

Ð%Z�ìT~_·ÆÓx (Post-Study Interview) ÅÙ|#Ù�Zq-7�&S~ZÚz- (term) ZkZ�b .27

UîV»Ø¸ìÔ�ð���ÆZEwÆ:L�Ø��ÔZzgÑ»YÆÎZÑ]»�Z[�c*Y@*ì?
Debriefing (B) Desensitizing (A)

Deploying (D) Dehoaxing (C)

Hì? (positivism) $4543ï IEGGG .28

Positivism is an epistemological position that advocates the application of the methods of the  (A)
 natural sciences to the study of social reality.

Positivism involves a dialogical process between theory and the empirical phenomenon; this     (B)
results in the production of 'reflexive narratives, not explanatory models or theoretical
propositions'.

Positivism is a way of thinking about the research process and staying positive. (C)

Positivism is an outlook in life about seeing things positively. (D)
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ìX  __________ yz*y~>ÆaZëy%Z! .29

Lack of sufficient research (B) Lack of sufficient number of universities guides (A)

Lack of sufficient fund (D) Lack of scientific training in research (C)

Æ�BK�ñZÚz-ÃH¹Y@*ì? (detailed standardized schedule) -£g~ozw .30

Group Interview (B) Clinical Interview (A)

Direct Interview (D) Structural Interview (C)

gz9ÅZq-6,zñ_5ÿ IEæ¾ÆZW,Z]»Z0+Zi{�**eLìX¾nÅ 1000 ådZ*ÑÙ]Å�Ûz|#6,zZ3ÆæV6, .31

ïÅYg�ìX
Experimental research (B) Applied research (A)

Survey research (D) Action Research (C)

Zlx�X ______________Æ(variables) ¬xîg6,o .32

Two types-independent and dependent variable (A)

Three types-independent, dependent and intervening variables (B)

Four types-independent, dependent, intervening and control variables (C)

None of the above (D)

%�zVZzgúgÂVÆaZq-wñR,�¡6,CÙgZ]Å�Zzgúg~°äÆ�gxy©]»_·�gì¸z{tY' 42 �z> .33

ñÆ�zgZyZEw�äÆaic*�{ÂZ**ðgnp�XZrVä (exercise) eT¸�ÔH�ßvic*�{ÎD�z{ZLw
Æ Null Hypothesis ìX 0.10 alpha ìÔ 0.08 two-tailed probability qÝH,  correlation » 0.28

!*g}~W\ÃH³ïYìX
Accept (B) Reject (A)

None of the above (D) cannot determine without more information (C)

ÅZq-VwìX ____________ (census) yz*yÅÓ#ÖÅ§sÐGYäzZá%�xÑgt .34

Casual research (B) Exploratory research (A)

 Applied research (D) Descriptive research (C)
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»Zq-g�ÒyìX ____________ îCg7g^ .35

Research Problem (B) Research Process (A)

Data Editing (D) Data collection (C)

Æ´z{ __________ Æv**]�Ô (secondary data) qgzfsU*â~Z°Z�zÑg .36

Sampling bias (B) Incompleteness (A)

Longitudinal analysis (D) Coding difficulty (C)

ÅZq-ZëS¤ìX ______________(ethical neutrality) ZÜ¹)Y�Zg~ .37

Scientific method (B) Deduction (A)

Experience (D) Observation (C)

ÐH%Z�ì? Biased research .38

drawing conclusions by introducing one's own vested interest (A)

no deliberate attempt to either conceal or highlight something (B)

repeatability and accuracy are provided for the quality of measurement procedures used (C)

each step of the research is valid and objective (D)

.39

ÅZq-VwìX __________ qgz!*Ñem,Zí
Multiple time series design (B) One group pretest-post test design (A)

Time series design (D) pretest-post test control group design (C)

ZÚ,MÅg�ðqÝ�Dz�ÜÔZyZ�Zâ]~�&ÐZëÃ̈Kì? .40

Noting the access dates (B) Recording the full URL (A)

They are all equally important (D) Downloading material to be referenced (C)

6,X-axis g3Y@*ìZzg __________ variable 6,¬xîg6, Y-axis Zq-óg7ĝÆZ0+gZq-¤/Zs~ .41

�Y@*ìX variable _________
Interdependent, Spontaneous (B) Independent, Dependent (A)

Control, Intervening (D) Dependent, Independent (C)

8

Ph.D. (Computer Science)/E.T./May 2019



Å»g~�Dz�ÜÔËÃf�~Hǵ¢zg~ì?  (oral presentation) i!*ãæ¾ .42

Who is the audience? (A)

What does he/she hope to gain from the presentation? (B)

What should be the core of briefing? (C)

All of the above are important. (D)

�**ecX __________ Ã;äÆa¢zg~ì�z{ (ethical values) ï~ZÜ¹Z�Zg .43

in accordance with the researcher's abilities (A)

providing opportunities to the researchers to work freely (B)

inculcate maturity in the researcher (C)

all the above (D)

©]�ìGYMh�X _________ ÜsZq-o�&em,ZMì�V (experimental design) �!*Cem,ZM .44

Linear (B) Strong (A)

Cause and Effect (D) Weak (C)

ÌHY@*ìX critical evaluation »�tHY@*ìZzg information Zzg facts~_________ .45

Survey (B) Analytical Research (A)

Action research (D) Pilot Study (C)

~ï»Zq-=w§iìX _________ Deconstruction .46

Applied Science (B) Literature (A)

Basic Science (D) Social Science (C)

»ZÚz-�ä~»x[�ZìXZq-5ixÆ%:~�áï�ä» 250 5i}�Zzg[Zy~ÐÜs 12000 Z¤/̂~ .47

Hì?  (probability) Zky
1 in 20 (B) 1 in 250 (A)

1 in 48 (D) 1 in 96 (C)

�@*ìX _________ ï»ÎZwc*LLïÆ_·»Ñóó¬xîg6, .48

Is made after the literature review (B) Is made prior to the literature review (A)

Both B and C (D) Will help guide the research process (C)
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ÃNzwHYYìZq-2»ZEw extraneous variables~(experimental research) R,HÆ��!*Cï .49

ìX _________ �ÆXZk2»**x
Analysis of covariance (B) Statistical Regression (A)

Post-Test (D) One-way ANOVA (C)

ÃÒy�@*ì? consistency ì�z�ÜÆ�B�B±jgkÅ reliability ÆZlx~Ðz{Ã́nÅ reliability qgzfs .50

Test-retest reliablity (B) Split-half reliablity (A)

Inter-scorer reliability (D) Equivalent forms reliability (C)

(Part B) z�zx
��~YCìÂÛR,Å»g��Ï6,HZzgHZW,�Ç? 8Ð1 Å®Z� cores �YCìZzg 4GHzÐ1GHz Z¤/6,zùÅgëg .51

Sixteen times faster (B) Eight times faster (A)

Sixty Four times faster (D) Thirty two times faster (C)

0*U$Ñí»ZEw�D�ñZq-   (stage-3) %µ  3 Â ÆaX execution &�¡©8ì  instruction Z¤/Zq- .52

eVÅ¢zg]�Ï?�Ûn�z�Zy6,¿�D �äÆaÄ� execute Ã instructions 4 ~ZÏnÆ sequence

7�VÐX (exceptions) z�ÜÃðæZìc*Z]Y
6 cycles (B) 12 cycles (A)

4 cycles (D) 9 cycles (C)

ìÔÂt�Ûnì�S» 15nS ìÔZzgZq-}�g~Åg�ð»z�Ü 1nS »z�Ü (access) Åg�ð (cache) Z¤/Zq-S .53

(average access) ZzgZz�g�ð access �ÂQSZzg%SÆ 100 ó(total access) ìZzgù¦g�ð hit-rate 0.9

ìX _______ Zzg _______ »z�Ü
250 nS and 150 nS (B) 250 nS and 1500 nS (A)

250 mS and 1500 mS (D) 250 nS and 1500 nS (C)

Zzg relation A �X attributes 2 Zzg rows 3~relation B �Zzg attributes 4 Zzg rows 6~relation A Z¤/ .54

H�Ï? cardinality Å C ìX C=A × B �V relation »W6,cH�HìX6 cartesian product »  relation B

24 (B) 6 (A)

18 (D) 12 (C)
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Æ2- CUSTOMER Zzg CUSTOMER óZ)»ZEw�gì�@*�z{Zq-Ü&45Îæ HGEE union all �Ûn�,�W\L .55

rows 7 Å×~ 2-CUSTOMER ñ���Ô² rows 10 ×~ CUSTOMER �,X combine Ã results

óóZ)»ZEw�Dz�ÜÄgkgekzZ:�Ð? union all ñ���X�zÇHZ,���zâV×~ñ���LL
10 (B) 7 (A)

17 (D) 15 (C)

functional ~qgz 'R' ìX Key 6,ZÎ~ 'A' ìX�Ûn�,� Schema R(A, B, C, D) »Zq- Relation R .56

�}Z+ dependency qgzfs~ÐÃ̈K �X dependencies

�}ÇX violateÃ (3NF rule) Zp
(B) (A)

None of the Above (D) (C)

ïBX minimal cover » functional depencencies �ØYäzZá .57

(A)

(B)

(C)

(D)

(association rules) ZÁÏZc¸Z° candidate Ì�c*�HìXQÄ L = |K| �c*�HìX frequent item-set L Zq- .58

¯ØYMh�?
(B) (A)

(D) (C)

Òy�@*ìX�Ûn color ì�Zk» attribute »ÜsZq- instances �XCÙ instances 1000 ìT~ dataset Zq- .59

Æa green= ìXg8- (green) »g8-! instances 200 Cc*�HìXZzga (red) »g8-Ñw instances 800 �,�
jgHì? predictability ez}

0.20 (B) 0.80 (A)

0.40 (D) 0.60 (C)
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ìXZzg linear �XR,Zc: 4 Zzg 1, 2, 3 weightsÆ(A four input neuron) Zq-egZy2$Egzy .60

H�Ç? output �X input 4, 10, 5, 20 �zìX constant » proportionality

76 (B) 238 (A)

none of these (D) 119 (C)

6,̈g�,X (fuzzy set) fs~Òy��{LÃL .61

old={(20,0),(30,0.2),(40,0.4),(50,0.6),(60,0.8),(70,1),(80,1)}

H�Ç? alpha-cut»  fuzzy set ìÂQQkÆ�[ÐZk 0.4=alpha

{(50,60,70,80)} (B) {(40,0.3)} (A)

{(20,0),(30,0),(40,1),(50,1),(60,1),(70,1),(80,1)} (D) {(20,0.1),(30,0.2)} (C)

6,̈g�,X reference stringÆvirtual pages �gzfs .62

1,4,2,3,1,4,2,3,2,1

�Ñz¬]~{à 3-page framesìsize �g~ÄZq-ÛR,6,^g;ìX}�g~» virtual demand-paged Zq-
Å®Z�ÃCNX page faults 0*�Æ� replacement ZÏ£ OPTIMAL Zzg FIFO ÔLRU �XZzg

OPTIMAL < FIFO < LRU (B) OPTIMAL < LRU < FIFO (A)

OPTIMAL=FIFO (D) OPTIMAL=LRU (C)

�X (Cylinder access requests) YgÆ�BZq-e�Ä6,̈g�,XqgzfsF,KM~YgkJ-îÅ�gpZZ 100 .63

20,6,15,2,73,19,7,10,34,4

6,ìXÓx�gpZ2VÃ7gZ�ä~Hz�Ü4ì?Z¤/Zq-YgÐ�zu}Yg6,Yä~ 50 °ZÒwYg head t�Ûn�,�
Å0*�ZEw�g�ìA$X shortest seek time first 4ìX 1 ms

233 ms (B) 95 ms (A)

276 ms (D) 119 ms (C)

ZEw C Zzg  A, B Ô(3 processes) &6,z� resources gppzZáZq-Ä6,̈g�,Xt m resources Zq-�nÆ .64

7�Ç? deadlock 6,value ÅH m ìX 6 Zzg 3,4 Ågeâ&+ process �ÆXZy share �gì�
9 (B) 7 (A)

13 (D) 10 (C)

12

Ph.D. (Computer Science)/E.T./May 2019



X6,ẑÆ0*kZq- 4kbìsize » page �c*�@*ìX addresses #$Æzgww 32 Zq-Ï8-X .65

ÃL way-4 g¿YY�XZzgz{× entries �× 128 ìT~ù¦îg6, translation-lookaside buffer

Hì: (minimum size) g»ÁZiÁ�,̂ TLB ìX associative

13 bits (B) 11 bits (A)

20 bits (D) 15 bits (C)

X120ns �ä»z�Üì access Ã page X]g~�g~Zq- 0.40ìhit-ratio » page �g~ paged Zq- .66

�ä»Zz�z�Ü accessÃ page XË 15ns �ä»z�Üì access Ã page ~Zq- primary memory

ìX __________ (average time)

105 (B) 78 (A)

75 (D) 68 (C)

��,Ð? lock Z»î.$Ã¾§b (user) **ò�gs csm099 W\ .67

Usermod -L csm099 (B) Usermod -1 csm099 (A)

Usermod -1ock csm099 (D) Usermod --1 csm099 (C)

Ãù�Y@*ì? additionÆ2+3~LISP .68

3 add 2 (B) 3 + 2 (A)

(+ 32) (D) 3 + 2 = (C)

ÐgZ5ÌÝ�XÓxàzVÐ¦/gäÆaHz�Ü�g»g cities �ZzgZy n cities 6,ZË~ Travelling salesman .69

Ã¬ÐYä%X (minimum length of a tour) �Ç?%ËÁZiÁIgÅMð
(B) (A)

(D) (C)

¹Y@*ì? semi-dynamic Ã environment¾ .70

Environment does not change with the passage of time (A)

Agent performance changes (B)

Environment will be changed (C)

Environment does not change with the passage  of time, but Agent performance changes (D)
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___________ °)~ Unsupervised .71

Specific output values are not given (B) Specific output values are given (A)

Both inputs and outputs are given (D) No specific inputs are given (C)

ZÚ:6,qgzfs~Ð LAN gzR,ÐÝ .172.16.2.1/23 ìX IP address 6,qgzfs 0 W\ÆgzR,~Zp,M .72

ÅÙ|#�$Ëì? Host IDs Ã́CwÅ
172.16.3.0 (4) 172.16.2.255 (3) 172.16.1.198 (2) 172.16.1.100 .1

2 & 3 only (B) 1 only (A)

None of the above (D) 3 & 4 only (C)

ìsubnet mask » subnet �ØYMh�?ZzgZk IP addresses Ãic*�{Ðic*�{Ä hostsÆlocal subnet Zq- .73

X255.255.255.224

15 (B) 30 (A)

14 (D) 16 (C)

´VÆ!*g}~ÃµÒ**]�g�&�? ICMP .74

They guarantee datagam delivery (2) They acknowledge receipt of a TCP segment (1)

They can provide hosts with information about network problems (3)

They are encapsulated within IP datagrams (4)

2 & 3 (B) 1 only (A)

2, 3 & 4 (D) 3 & 4 (C)

ìX _________ (TCP Port) ÅZEw��zKÏ8g7g^ SMTP ¬xîg6, .75

35 (B) 25 (A)

15 (D) 50 (C)

�D�X (specify) ~³ _________ÆHTTP message ÅZÎgÂZq- value z){Å GET, POST, HEAD .76

Request line (B) Header line (A)

Entity body (D) Status line (C)
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»�ÃgxHì? WTLS .77

Wireless Transfer System Layer (B) Wireless Transport Security Layer (A)

Wireless Transport System Layer (D) Wireless Transfer Security Layer (C)

Ð11 c*00 àg�@*ì� string Z, language Ãee�̂@*ìX language L K�Zq- regular expression Zq- .78

Ñzq�Vc*»�VX
[(00+11)(0+1)*] + [(0+1)+(00+11)] (B) [(00(0+1)* 11] + [11(0+1)* 00] (A)

(00+11)(0+1)*(00+11) (D) [(00+11)(0+1)*]+[(0+1)*(00+11)] (C)

(hierarchial relationship) �gzÈ~ Æ�gxy Context-free, right-linear, and context - sensitive language .79

»mHì?
(A)

(B)

(C)

(D)

¤/Z%ìX __________ language tÔ .80

Type - 2 Grammar (B) Type - 3 Grammar (A)

Type - 0 Grammar (D) Type - 1 Grammar (C)

~· NDFA Z
&½h4ï GFH�@*ìXZk (non-deterministic finite automata) NDFA ì�Zq- set Zq-L �Ûn�,� .81

~·ÅZ°Z�H�Ï? deterministic finite automata ÃZ&½h4ï GFH�äzZá set XZÏ ÅZ°Z�ì
(B) (A)

(D) (C)

qgzfsÒ**]6,̈g�,Zzgn�Ø�ÎZw»�Z[�,X .82
Every context sensitive language is recursive (i)

There is a recursive language that is not context sensitive (ii)

Both (i) and (ii) are true (B) (i) is true, (ii) is false (A)

(i) is false and (ii) is true (D) Both (i) and (ii) are false (C)

15
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ìX (equivalent) Zq-¤/Z%��gzfs¤/Z%Æ',Z', .83

(B) (A)

(D) (C)

ÃZEg�̂@*ì? ~ÄZ·�f� minimal deterministic finite automaton Zq- .84

4 (B) 3 (A)

6 (D) 5 (C)

�? decidable qgzfs~ÐÃµ6,ZË .85

  Whether the intersection of two regular languages is infinite (I)

Whether a given context-free language is regular (II)

Whether two push-down automata accept the same language (III)

Whether a given grammar is context-free (IV)

I and II (B) I and IV (A)

II and IV (D) II and III (C)

:7Z�»�[ùHYYì? .86
UFP * FAC  (B) UFP * CAF (A)

UFP * Productivity (D) UFP * Cost (C)

gzN*U$Æ!*g}~H9ì? UML Zy~Ð .87

Sterotype is used for extending the UML language (A)

Sterotyped class must be abstract (B)

The Sterotype indicates that the UML element cannot be changed (C)

UML profiles can be stereotyped for backward compatibility (D)

16
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�äÆaÔqgzfsÃgñ!ZEw�@*ì computeÃ (FP) :7Z� .88

ÅZ°Z�Hì? n ÎZwX n jãC�ì  value adjustment factors� Fi (i = 1 to n) �V
18 (B) 12 (A)
14 (D) 16 (C)

qgzfsò�,X .89
List A List B

a. Good quality i. Program does not fail for specified time in a given environment

b. Correctness ii. Meets the functional requirements
c. Predictable iii. Meets both functional and non-functional requirements
d. Reliable iv. Process is under statistical control
þ

a b c d
(A) iii ii iv i
(B) ii iii iv i
(C) i ii iv iii
(D) i ii iii iv

failures 100 »�/�}ÇXZÌJ-Zk6,z¤/Zxä failures 200~(infinite time) �Ûn�,�Zq-6,z¤/Zx~Ñöz�z�Ü .90

H�Ï? current failure intensity XÂQ 20 failures/ CPU hrìfailure intensity »�/�1ìXÑz¬C
20 failures / CPU hr (B) 5 failures / CPU hr (A)

40 failures / CPU hr (D) 10 failures / CPU hr (C)

heap �XZk elements 5 Æfg=Z�Zðîg6,ÔZk~ MAX-Heap H�Hì implement Ã priority queue Zq- .91

Ã elements ZÏWgeg~X6 7 Zzg 1 Zë^K�� element X�z6 2,3,5,8,10ìlevel-order traversal »
H�Ç? level order traversal »* heap �áï�äÆ�

10,8,7,2,3,1,5 (B) 10,8,7,3,2,1,5 (A)

10,8,7,5,3,2,1 (D) 10,8,7,1,2,3,5 (C)
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Æ(,_�ñWgegÃÒy�@*ì? asymptotic complexityÆf4 Zzg f3 óf2 óf1 �Ø�W$h4ø FIE~ÐÃy�Wgeg .92

f3, f2, f1, f4 (B) f3, f2, f4, f1 (A)

f2, f3, f4, f1 (D) f2, f3, f1, f4 (C)

X�gzfs~ÐH9ì? P!=NP �Ûn�,� .93

(B) NP-complete =NP (A)

P = NP-complete (D) NP-hard = NP (C)

H�Ç? cost »minimum spanning tree qgzfs¤/ZsÆa .94

 68 (B) 32 (A)

57 (D)    48 (C)

30, 20, 10, 15, 25, 23, 39, 35, 42 ìX post-order-traversal » binary search treeË .95

Which of the following sequences is the preorder travarsal of binary search tree.

15,10,25,23,20,42,35,39,30 (B) 10,20,15,23,25,35,42,39,30 (A)

15,10,23,25,20,35,42,39,30 (D) 15,20,10,23,25,42,35,39,30 (C)

Å§bÉHY@*ìÑíÃegZ�äÆaX rastor unit »ZEw�@*ì�Ì(,Zìó Delta Y c*Delta X z{§iT~ .96

__________ ZkÃZÏgí»**xì
Generalized Bresenham's Algorithm (B) Bresenham's Line Algorithm (A)

Midpoint Line Algorithm (D) DDA Line Algorithm (C)
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WÏgí~? Sutherland-Hodgeman clipping ZEwKYD� polygonÄ .97

3 (B) 4 (A)

  1 (D) 2 (C)

Å¦k,»�,̂Hì? 480 x 640 &½hÎæ
FE 240 °Zõ .98

2 *2/3 by 2 inches (B) 2 by 2 inches (A)

none of these (D) 3 by 2 inches (C)

Ã́ì? language ~Z&½h4ï GFH�äzZà DFA Zk .99

(a+b)* (B) b* ab* ab* ab* (A)

b*ab*ab* (D) b*a(a+b)* (C)

qgzfs�Ø�Ò**]6,̈g�,X .100

Recursive enumerable sets are closed under complementation .I

Recursive sets are closed under complements .II

Which of the above statement is/are correct?

II only (B) I only (A)

Neither I nor II (D) Both I and II (C)

///
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